
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M061104861D D
6.1(A)
[S]

None
STAAR:
M1

2 M061104921D H
6.1(B)
[R]

6.11(A) [P]
STAAR:
M1

3 M06025455CS 0.45
6.1(B)
[R]

None
STAAR:
M1

4 M061094533D -12
6.1(C)
[S]

6.11(A) [P]
STAAR:
M1

5 M061104876D
1.05, 1.058,  , 1.215

6.1(A)
[S]

None
STAAR:
M1

6 M061104848D

A.

B. Mary

6.1(A)
[S]

6.12(A) [P]
STAAR:
M1

7 M061104926D 0.9
6.1(B)
[R]

None
STAAR:
M1

8 M061104914D
  is equivalent to , which is larger

than .

6.1(A)
[S]

6.12(A) [P]
STAAR:
M1

9 M06016312CS C
6.1(B)
[R]

None
STAAR:
M1

10 M06016313CS F
6.1(B)
[R]

None
STAAR:
M1

11 M061104844D Strawberry
6.1(A)
[S]

None
STAAR:
M1

Test Key

CISD Grade 6 Math Unit 01



Scoring Rubrics


